Eureka Math Grade 4 End of Module 1 REVIEW Assessment Task

ANt o I Word Form | v - Expanded Form
" Talahassce

Sour hundred gigity three 400,600+ 0,000+
2,495 +hovsard four Mred nipery 3,000+ 400+40 13
City: NM\/ \)

gight hundred wenty nine | gpp,000 30,0001
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five hundred forty ning. | 500,000 +40,000F

HYUS | opean D hiindred 10,000 +Geot4o+3

d. Compare the population of Tallahassee and Phoenix using >, <, or =.

493,443 & 544,943

Tallahassee Phoenix

e. John lives in Seattle, WA, which has a population of 32,725. He says
that Olympia’s is about 10 times as large as Seattle’s population. Explain
John's thinking.

John s Jrh'mb{nzj et Olymeds  populaiion
19 53,7185 %10 which is 227,280
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